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ENGLISH

ClassV
Full Marks- 40

1.

Read the passage car efully and answer thefollowing questions:

At 11.30a.m. Hillary and Norgay reached the summit of Mt. Everest. Hillary reached out to shake Norgay’s
hand, but Norgay gave him ahug in return. Thetwo men enjoyed only 15 minutes at the top of theworld
because of their low oxygen supply. They spent their timetaking photographs and enjoying theview.

A.

Completethefollowing sentenceswith infor mation from the passage: 1x4=4
i) Hillary and Norgay reached the summit
i)  Hillary wanted to shake hands but Norgay
i) They stayed at the summit briefly because
iv) They spenttheir timein
Answer thefollowing questions: 2x2=4
() WhatdidHillary do after reaching the summit?

(i) HowlongdidHillary and Norgay remain a the summit?

Read the passage and answer the questionsthat follow:

Therewasquiteanumber of good teachersin our school. B.D Roy taught usEnglish. Hewasasmal manwho
took great careto ensure that we pronounced English correctly. One day hetold usthe story of The Ox and
TheFrogfromAesop’sfables. Beforetel ling usthe story, hetaught ushow the pronunciation of ‘ the’ depends
on whether thefollowing word begins with avowel or aconsonant. | fondly remember our head pandit,
BhattacharyaSir, for hisexce lent handwriting.

Tick thecorrect answersfrom thegiven alter natives: 1x3=3
Mr. B.D.Roy wastheteacher of

a) Mathematics b) English ) Bengdi d) Science

Theauthor learnt correct pronunciation fromhis

a) Headmaster b) Father ¢) Englishteacher d) Mother

‘“TheOx andthe Frog’ isatalefrom

a) Panchatantra b) Hitapodesha c) Jataka d) Aesop’sFables
Classify the Common Nounsand Proper Nounsin thefollowingtable: 1x10=10

i)  Norgay andHillary werethefirst mento climb Mt. Everest.
i)  Theriver Hooghly iscloseto my house.

i) Thehorseisauseful animal.

iv)  WeliveinWest Bengal.

Common Noun Proper Noun
) a)
i) b)
) C)
iV) d)
v) €)




Fill in theblankswith present continuoustense of theverbsgivenin brackets:

a Theboy (draw) apicture.

b) They (play) inthefield.

Fill in theblanksby choosing appr opriate Prepositionsfrom thelist given below :
a Heisgoing Kolkata.

b) Thebirdflew my head.

c) Fisheslive water.

d) Putthepen thetable.

[List: over,on,in,to]

Fill inthetablewith appropriate Short Formsof thefollowing words:

Full Form Short Form

Cannot

| am

Did not

You have

Writethe Opposites of the following words:
a) light:

b) easy:
C) never:

d) curly:

Write five sentenceson ‘My School’

1x2=2

1x4=4

1x4=4

1x4=4
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